A

SDAZ 3 #E & R L

BFEREREKEE
HREEPERBSE, REEBBESE

EEFRBEXSHK

SDARJI|EmEE

PITHRRFE

B
i

ZERIEREL A E

SDA: BERIL
(=3

SSA: BERIL
(BBENIP LAY

STA: BERIL
(EBESIAR)

SDAD: BERIL

o1
7

RELEANBREER40 umEl DRITBEZ ST BA;

(EanEd i)
SEEBITIEAIE —e
IS SDAJ: BEMSRFII
12, 161 20. /{5\ 32/\740\ \?0\ 63. 80. 100%@1@@;@ (EanE s TIRT AR
BRIEDHESERBTRE, HEER
EERILEE SDAT: B#RIL
. . (EH2MER)
KENBE, SUEERETH
IEEH%KE. FTEREEFEMNRANSHEE, ET5E
SDAW: BERIL
(EMEDSHAED
=B
RIEEHE DR
8i71: 4| (N)
R FEF kB (REER ZRE 71 (MPa) REL|FEH EE |REER T HE 51(MPa)
HE SME AR (mm®)| 0.1/ 02[03[04|05]06] 07 HE HME| HRX (mm®)| 0.1 [ 02 | 03 | 0.4 | 05 [ 0.6 | 0.7
BHES | 1131 - [ 126]239(352|465(57.9/]69.2 #BHEH) | 12566 | - | 168.6 | 294.3 | 420.0 | 545.6 | 671.3 | 796.9
121 & SIAEEE)| 848 - | 70 154]239[324]409[494 | o SIN\ESE)| 1066.6 | - | 128.4 | 234.0 | 339.5 | 445.1 | 550.6 | 656.2
E@j\#ﬁ@u 1131 | - 1226 339[45.2 565679792 1E@\WEU 1256.6 | 126.7 | 251.3 | 377.0 | 502.7 | 628.3 | 754.0 | 879.6
[AIRI 848 - [17.0]254 (339|424 509|594 |#IHI| 1055.6 | 105.6 | 211.1 | 316.7 | 422.2 | 527.8 | 633.3 | 738.9
#HEH) | 2011 - 1202403604 |80.5 100.6/120.7 #BHEH) | 19635 | 89.3 | 286.7 | 482.0 | 678.4 | 874.7 [1071.1]1267.4
161 6 SIABBE)| 1728 - 1 146[31.8/49.1]66.4]83.7101.0 50 | 20 SIAE®)| 1649.3 | 57.9 | 2229 |387.8 | 552.7 | 717.7 | 882.6 |1047.5
E@j\ﬁﬂ,ﬂu 201.1 | - |40.2[60.380.4100.5 120.6/140.7 ,gém\ﬁiﬁ\u 1963.5 | 196.3 | 392.7 | 689.0 | 785.4 | 981.7 [1178.1|1374.4
[#I|I] 1728 | - |34.6|51.8|69.1]86.4[103.7/121.0 =2 RIE) 1649.3 | 164.9 | 329.9 | 494.8 | 659.7 | 824.7 | 989.6 | 1154.5
eS| 3142 | - [39.8]71.2[102.7/134.1]165.5/196.9 BB | 3117.2 | 135.7 | 447.4 | 759.2 [1070.9/1382.6|1694.3 2006.1
50| g |SIAEE| 2639 | - 1298562826 1089/1353/161.7 o o SI\ESE) | 2803.1 | 104.3 | 384.6 | 664.9 | 945.2 [1225.5|1505.9|1786.2
- 80l 3142 | - |62.8/94.2[125.7/157.1/188.5/219.9 - 18| 3117.2 | 311.7 | 623.4 | 935.2 |1246.9/1558.6|1870.3/2182.1
HIEI| 2639 | - [52.879.2[105.6/131.9/158.3184.7 =25 2803.1 | 280.3 | 560.6 | 840.9 |1121.2|1401.5|1681.9|1962.2
#PHEEE) | 4909 | - |69.7 118.8/167.8/216.9/266.0/315.1 80 | 25 =@ #B/EI| 5026.5 | 502.7 [1005.3/1508.0/2010.6|/2513.3/3015.9/3518.6
25 10 SIANEEE)| 4123 | - | 54.0|95.2|136.4/177.7/218.9/260.1 f1Hl| 4535.7 | 453.6 | 907.1 [1360.7 |1814.3|2267.8/2721.4|3175.0
- BBl 4909 | - | 982 147.3/196.3/245.4/294.5/343.6 100 32 |EE #B/EI| 7854.0 | 785.4 [1570.8/2356.2|3141.6(3927.0|4712.4|5497.8
Bl 4123 | - |82.5(123.7/164.9/206.2/247.4/288.6 E R 7049.7 | 705.0 |1409.9|2114.9|2819.9|3524.9|4229.8|4934.8
#HESE) | 804.2 - |105.3/185.8/266.2|346.6|427.0/507.5
32| 12 SIAEE)| 691.2 | - [82.7151.8/221.0[290.1/359.2(428.3
%) Pl 804.2 | - [160.8/241.3/321.7/402.1482.5|563.0
HIEI 6912 | - [138.2]207.3]/276.5/345.6/1414.7/483.8
=] Y
2 8¢ 0L (3 A #4) A
1. TIEEHE2E, BERRENAHBHREL; i 6. ARIINMERDEDRG, —RITERATRELAK;
2. EERABHEERMEGT, BEBMBELVMN SR MEERIE R ; : 7. AEREBIET, BREFVEBH, B5LERMOBIKD RS,
3. AREKX, HED, EENE. HE. I8B0NES, [IIBRE 3 8. RILE LIEREPERIAEHMBZROEHT, UHSRIINERS TIERGBEAS;
18REBIBHE B ; | 9. R/ TRIEENMER, BERXREME, EHROEIIMEBEE, KIR:
4. RIIBAEERT, DWEBREENEY, HILEYEARIIN; | Nl BEATBTHFED,

L

146




ik Fokil AIl'TALC

SDAZR I

%
AE(mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
- (e
IMFEI FHHLL. BHIAL | -
TENE ZERMAEA0 p ML EIEIBIER)
emE = 0.15~1.0MPa(22~145psi)(1.5~10.0bar)
&g |Sei 0.2~1.0MPa(28~145psi)(2.0~10.0bar)
IRBMERS] 1.5MPa(215psi)(15bar)
¥ SE TIERE < 220~70
— FFPREHE mm/s EEpm. 30~500 E55)A. 50~500
SDAD SDAJ JI2AZEE mm {J12<100+}0  {312€>100+}5
BEE0& bh M5 0.8 | pPmi/g | PTI4 | PT38
_S%‘]ﬁ -S%fﬂ _Séﬁ&_vj j%ﬁ%: jéﬁé; bH BEFNEPTIIMRIE,; 3. EMSOREEP4I3E,
18
SDAT SDAT-S
_EEEE _E]E]D M E(mm) ZETE(mm) mATE
12 = |yt | 510 1520 25 30 35 40 45 50 50
SDAW SDAW-S 16 b |THiIEE 510 15 20 25 30 35 40 45 50 55 60 60
8] 510 15 20 25 30 30
EEIB ::MMD % [yl | 510 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 90
20 |®) | FHYEE 510 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 100 100
o £3) 51016 20 25 30 30
EmiFt 2532|428 |MUB% | 510 1520 25 30 35 40 45 50 55 60 65 70 75 80 85 90 100 110 120 120
4050 | B) | RBif 510 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 100 110 120 130|130
1. HFRREmE, 65 [EF) 510 15 20 25 30 30
S g e S TR AT /D A A A . P 80 {E\BM@ 510 1520 25 30 35 40 45 50 55 60 65 70 7580 85 90 100 110 120 120
2, HIBRES, BERSENRANSHRE, REJR: 100 | &) RHUHL 510 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8590 100 110 120 130|130
3. [EENERBREBEABFRES(CRE, ME. MAMES; (]
4. DEBHNRBARLLOBIGBE, RYRE, 50, 1. EBFHIREER, STE-RATREE, FFREE, HEBRTRESEANTHR;
5. SETEE, AL MEL LIRS, 2. RATRBEROIFRTEU L —REETRABMN, HINERYR L—REETERLI
6. TR SEERSEE, DEEHESE %@gg%%wm 21923 PIIFROTRERILEHRETRR2EERIINH MR, EINE

7. ZEEBORIEATHERE,

FATHE 1
SDA 20x30 S B [J
\ | | [
SDAD 20 x 30 s B D
SDAJ 20x30 30 s B
DEBERIE QHE @EBTE OWA R OEERFE DF B D12l
= 1 ) 1216 20 25 32
SDA. BERILEEH) 2050 63 80100
SSA. BERIIEEBLA) [H1] 1216 20 25 TS o g
= =10 o m T3 P —d: ]
STA, BERILEH3IAL) 32 4050 63 | 5R{TiEBIE S | BE. AFE @, prg
SDAD: BERII (EahEsiy) 1216 20 25 32
SDAJ: BHEE L n/EE)T/20z97Y)| 40 50 63 80100 2—,8 §(5) ?85 0

SDAT20x30x10 S B

Jf@

ORERER Q& @fr#1 @182 OA R ©FREFFE DFBIRE [+2]
SDAT: BERILIEEISLER) 1216 20 25 32 | i mgo VPO = P01 R el = Pl o=
oA ERRTEREEED 4050 0 80100 |FROEAE |smmEamTe) | § Gl S e, PTS

D BERIRPERREERGEEMNBY, WEBEREE, BREEEMTBEENNFRATHBOEN
BES|I\LBEBRNSEMED, 2EBEREE, MRGEENTEZEMNIER MBLEL

DE2] BEERMSIR, WIEMAIKRZ,.

DE3] 3121 +17122 < 1TIRDIR PRIV BIE

A 147




A8 F AL AIl'TAC
SDAZR I

NBEEREEFTHME
SDA SR & HH Fik| &8 Hy
1 BE 012, 16MEETED)| 7 SIES BEE
2 |PEBER) NBR 8 | OMEB NBR
3 BE |E(012. 16MEBEEETE)| 9 | CEHE SRS
4 | BEOD NBR 10 |RIEOS NBR
5 | SBEM SA5CHE IR ISR 1 |7 VBIRIE iz
6 | A2 iBET 12 | HWE #012~32/MEMRETE)
.__IJ'IIIIIIIIIIIII'IIIIA'A‘!
ShEBFR %
SDA
1 KA KA -
©12. ©16 KA K&, 2 | ©20~0100 A A e
A A i =™ naafSN
< i E—
] B | SEl
Mgy = S | isa—=
—®8 | [e4 \2=P ke i —B98 | | Toa
DAjjMA : DA| |[MA
AB AC+1T12 ‘ 2 MA -
AT 3 AB AC+{712
! A+1T12
P B\ IE A s AC B BA DA E EA J [JA K KA/ KB/ M MA P PA PB T

= 4 Hing 12| M i St=5 St>5 St=5|St>5

oo O

H
12 22 1325 |17|27 |26 - 4 M3x05| 6 | 5|65|45] M5x0.83@3:®4.2 | 12 |16.3/10.2| 1 |[M5x0.8/ 7.5 | 7.5 5 5 |23
16 24 | 34 155(185/285| 29| — 4 'M3x05| 6 | 56545 M5x0.83@3:®4.2 | 12 198/ 11 | 1.5 M5x0.8 8 8 5 55 |28
20 25|35 /5519529534 36 | 8 | 4 M4x07| 8 | 6 65|45 M5x0.8:835:®4.2 |14 24 |13 |15 M5x08 8 9 5 55 | -
25 27 | 37 21131 |40 |42 10| 4 M5x08|10 8 82|55 M6x1.05@5:®5.2 | 1528 |17 | 2 M5x08 9 9 65 | 65 | -
32 31.5/41.5 24.5/345|44 | 50 | 12 |45 M6x1.0/ 12 10|8.2 | 55| M6x1.05@35:®5.2 | 16|34 | 22 | 25| PT1/8 9 9 6.5 9 -

4 M8x1.25/ 12 | 14 105/ 6.5 | M8x 1.25@3:®6.7 | 20 | 40 | 28 | 3 | PT1/8 | 95 | 95 | 756 | 75 | -
50 37 | 47 28 | 38 |62 |71.5/20| 5 M10x1.5/ 1517|105/ 6.5 M8x 1.25 583, ®6.7 | 25 | 48 | 38 | 4 | PT1/4 8 |105| 8 105 -
63 41 | 51 32|42 [ 751|845/ 20| 5 M10x 1.5/ 15|17 [10.5| 6.5 | M8x 1.25 5,:®6.7 | 26 | 60 |40 | 4 | PT1/4 | 95 | 12 | 956 | 11 | -
6 5
7 5

5
M14x 1.5 20 |22 | 17 | 11 [M12x1.755850:®10.4| 25 | 74 | 45
5

6
7
40 33 |43 |7 | 26| 36 |52 585 16
9
9

80 52 162 1141 | 51 | 94[104] 25 PT3/8 | 1156145 115|145 | -
100 |63 |73[12]51] 61 (11412432 M18x 1.5 20 |27 | 19 | 13 [M14x2.05@3:®12.4| 30 | 90 | 55 PT3/8 | 16 | 205 16 | 205 | -
SpFFRIR B ~ AB(AB+EE)EHITIE)
AB(AB+EEE B1T12) | DA(DA+E# B T2
EYNT YN T e i
®12,. ©16 DA(DA+EBHEHT12) : ®20~100 EB
EB 3 EA
EA | FA
_FA_ ! ]
i —
= : ]
Ya) | =
ser E : ols ng
/7 ! 7—‘ =
EE/H J | E/ F/ H
_BEE - ' - =]
_(@)@mi [
P{E\FSE AB D DA E EAEB| F FAH M A
SDAD\SDAJ HE
12 17 | 6| 16 | M6x0.8 1012 8 | 4 | 5 [10.2 1 1
16 1756 | 16 | M6x0.8 | 10|12 8 | 4 | 5 | 1 15 15
20 [205|/8 |19 | M6x1.0 |13/15[10| 6 | 6 | 13 15 15
25 23 (10| 21 [M8x1.26[15 17 [12| 6 | 8 | 17 2 2
32 25 [12] 22 | M10x1.25 |15 18] 17| 6 |10 22 3 25
40 35 [16] 32 |M14x15|25 275 19| 8 |14 | 28 3 3
50 |36.5/20/32.56|M18x1.56[25.527.5/ 27 | 11 | 17| 38 4 4
63 |37.5/20(335|M18x1.526 28|27 11|17 | 40 4 4
80 44 25| 39 |M22x15|30|33/32[13 22/ 45 5 5
100 50 | 32| 45 |M26x1.5|35 /38|36 |13 |27 | 55 5 5

A 148



ik Fokil AIl'TALC

SDA R
SSA ~ STA
©12, ®16 L 012, 016
KA KA, 2 i KA KA, 2
A A i A
W afil ! i ) A 4
T — | T
o |
e | SR
=== 1 ! e =
s P/ |PB] ! ] |PA \P
DalIMA- ! DA+T#2 MA
ABL | AC+T#2 3 AB+{T13 AC+{TiZ
A+1T12 | A+{TE x 2
©20-~ 063 | ©20-063
KA KA S ! KA KA S
M A Q ! A A S
& 3 ®
ED’: PN 3 Eor —lo—e
© @ : 8, <
H — — } H —
] ) | =
DA| |Ma B/ |pB | A \P
AB AC+T12 ! DA+{T12 MA
A+iT2 AB+{T12 AC+{T12
i A+1TFE x2
- A(ZEE) A (P 5) AC(E%) AC (Mt i)
MR 5110 st>10 St<10 St>10 B 'st<10 St=10 St<10 St=10 ° BA
12 32 | 42 | 42 52 | 5 | 27 37 37 47 |25 | -
16 34 | 44 | 44 | 54 |55 | 285 | 385 | 385 | 485 | 29 | -
20 35 | 45 | 45 | 55 | 55| 295 | 395 | 395 | 495 | 34 | 36
25 37 | 47 | 47 57 | 6 | 31 41 41 51 | 40 | 42
32 415 | 515 | 515 | 615 | 7 | 345 | 445 | 445 | 6545 | 44 | 50
40 43 | 53 53 | 63 | 7 | 36 46 46 56 | 52 |58.5
50 47 57 57 | 67 | 9 | 38 48 48 58 | 62 |71.5
63 51 61 61 71 |9 | 42 52 52 62 | 75 |845
R &\FF5% D [DA EAH | J [JA K KA KB [ M [MA P PA[PB| T
12 64 M3x05| 6 | 5 65|45 M5x08iE5:®42 | 12 163102 1 | M6x08 | 7.5 | 5 | 23
16 64 M3x05| 6 | 5 65|45 M5x083E3:®42 | 12 [198] 11 |15 M5x08 | 8 | 55| 28
20 84 | M4x07| 8| 6 | 65|45 M5x083E3,:®42 |14 | 24 | 13 |15 M6x08 | 9 | 55| -
26 10| 4 |M6x0.8[ 10| 8 [82]565| M6x1.05@3L:®52 |15 | 28 [ 17| 2 | M5x08 | 9 |65 | -
32 124 [ M6x1.0[ 12108255 M6x1.05@3L:®52 |16 | 34 |22 (24| PTI/8 | 9 | 9 | -
40 [16] 4 [M8x1.25| 12 | 14 [105/ 65 | M8x1.25@3:®6.7 | 20 | 40 | 28 | 3| PT1/8 | 95| 76| -
50 20| 5 [M10x1.5| 15 | 17 [10.5 6.5 | M8x1.253@3L:®6.7 | 25 | 48 |38 | 4 | PT1/4 |105/105] -
63 | 20| 5 [M10x15| 15| 17 [10.5/ 6.5 | M8x1.253E5:®6.7 | 256 | 60 | 40 | 4 | PTI/4 | 12 | 11 | -

DRI NANFRTHBE2EP1488,

149



ik Fokil

AIl'TAL

SDAZR I

SDAD
12, 016

MA

=
e

PA PA
AB|_ | AC+1T712 AB+{T712
A+{TTE x 2

®20~0100
MA_
=4 yaa
)
2fto—o 11—
PA [PA|DA+{TIE
AB AC+{T12 _AB+{T12
A+{TTE x 2
n A AC
[oRidbed ] BE | pE AB B WE DA
12 27 37 5 17 27 4
16 29.5 39.5 5.5 18.5 28.5 4
20 30.5 40.5 5.5 19.5 29.5 4
25 33 43 6 21 31 4
32 38.5 48.5 7 24.5 34.5 4
40 40 50 7 26 36 4
50 46 56 9 28 38 5
63 50 60 9 32 42 5
80 63 73 11 41 51 6
100 75 85 12 51 61 7
g EA PA
R R E St<10| St>10 Ll Lk St=5 St>5
12 M3 x 0.5 6 6 102 1 55 | 6.3
16 M3x 0.5 6 6 1M1 |15 65 | 7.3
20 M4 x 0.7 8(St=5056.5) 15 15| 75 7.5
25 M5 x 0.8 10(St=5[57) 17 2 8 8
32 M6 x 1.0 8 12 22 3 8 9
40 M8 x 1.25 8 12 28 3 8 10
50 M10x 1.5 8 15 38 4 8 10.5
63 M10x 1.5 10 15 40 4 95 | 11.8
80 M14x 1.5 13 20 45 5 115|145
100 M18x 1.5 18 20 55 5 16 | 20.5
[ RERC R YU RIEEREE,
NFRTFBESEAP1488,

SDAJ
®12. 16
PA
was A
oo i
2 B} et
% AD+FARTI2
AB AC+{T12

A+TIE x 2+ FE(TI2

©20~0100
MA
T A
2o o1&
&\_4
Bl FAC+Ti2 A |AD+ TR
A+TI2 x 2+ 81712
o A AC
A BT SE BE | W AB EE | WE AD E
12 40 50 5 17 27 17 M3 x 0.5
16 425 | 525 55 185 | 285 17 M3x 0.5
20 475 | 575 55 195 | 295 21 M4 x 0.7
25 54 64 6 21 31 25 M5 x 0.8
32 615 | 715 7 245 | 345 27 M6 x 1.0
40 64 74 7 26 36 28 M8 x 1.25
50 70 80 9 28 38 29 M10x 1.5
63 74 84 9 32 42 29 M10x 1.5
80 925 | 1025 11 41 51 355 | M14x15
100 110.5 | 1205 12 51 61 425 | M18x15
o EA PA
R st=10|st10| ' A | M |MAI<i 5 [ s6s i
12 6 6 4 [102] 1 55 6.3 M5 x 0.8
16 6 6 4 111 ]/15] 65 7.3 M5 x 0.8
20 8(St=5056.5) 5 | 16 /15| 75 7.5 M6 x 1.0
25 10(St=5057) 6 | 17| 2 8 8 M8 x 1.25
32 8 12 6 | 22| 3 8 9 M10x 1.25
40 8 12 7 | 28] 3 8 10 M12x 1.25
50 8 15 8 [ 3] 4 8 10.5 M16x 1.5
63 10 15 8 |40 | 4 95 11.8 M16x 1.5
80 13 20 10 45| 5 | 115 | 145 M20 x 1.5
100 18 20 [135| 55 | 5 16 20.5 M27 x 2.0
U] RFREC R U RIEEREE,
NFRTFESEAP1488,

150



A8 F AL AIl'TAC
SDAZR I

SDAT 3
012, ©16 i
A+(TI21 x 2+1T122) i A+(1T121+17722)
| P P
. A, PA : £8 PAl PA £B
‘ J ! |
sfe——ele o | daifeglo <
H e~ ———— e ! Y Ty 1
—— | JANG=P JA | —= | ||_1lua JA]
—@E | (KA = | —a8 KA |\ 4-p
Dajyma o 1 DA||[MA MA
AD+({7#21+/7122) _AD+{T7121 ; D+ /7122 AD+ /51T
AB| | AC+{fTH1 x 2+{TH22) 3 AB| [ AC+UTRI1+1T/22) | |AB

©20~®100 | ©20~0100
~ ~ BA !
A+({T121 x 2+17122) 0B | A+(1T121+17122)
PB PA__PB  PA | PB PA PA PB
o —ole o 3 o 0l O gg
I p—— AM%T . i = — “H
JA T IA 3 —E8
3-P L) ! JA JA ||
DATT I\/IA<KA i KA 4-P
| BDsiaEI+3E2_AD+TE 1 PRMA o MaLRA
AB AC+(T121 x 2+{7122) | AD+{J1E2AD +1TH
a4 ; AB| |AC+({T121+15%22) | |AB
(H NIRRT #HSEP148E, - BHINFRUESEP148E,
. o A AC AD ! . o A AC AD
HEWHR mw wa °° me ww ome mw ° BA D PA HEWH wuwm AP e mw mm wm ° A D PA
12 39 59 5 34 b4 17 27 25 - 6 4 i 12 44 64 5 34 b4 17 27 25 - 6 4
16 4251625| 55 37 57 1185 |285| 29 - 6 4 i 16 48 68 5.5 37 57 | 185|285 | 29 - 6 4
20 445|645 | 55 39 59 1195|295| 34 | 36 8 4 i 20 50 70 55 39 59 | 195|295 | 34 36 8 4
25 48 68 6 42 62 21 31 40 | 42 10 4 ! 25 54 74 6 42 62 21 31 40 42 10 4
32 56 76 7 49 69 245|345 44 | 50 | 12 4 i 32 63 83 7 49 69 | 245|345 | 44 50 12 4
40 59 79 7 52 72 26 36 52 |68.5| 16 4 i 40 66 86 7 52 72 26 36 52 |58.5 | 16 4
50 65 85 9 56 76 28 38 62 |71.5| 20 5 ! 50 74 94 9 56 76 28 38 62 |71.5| 20 5
63 73 93 9 64 84 32 42 75 184.5| 20 5 i 63 82 102 9 64 84 32 42 75 1845 20 5
80 93 | 113 | 11 82 102 | 41 51 94 | 104 | 25 6 ! 80 104 | 124 11 82 102 41 51 94 | 104 | 25 6
100 114 | 134 12 102 | 122 51 61 114 1124 | 32 7 i 100 126 | 146 12 102 | 122 51 61 114 | 124 | 32 7
T 1E\TF 5% E EA | H J JA K KA i Fagdved ] E EA H J JA K KA
12 M3 x 0.5 6 5 6.5 | 45 M5 x 0.8 5@8350: ®4.2 12 i 12 M3 x 0.5 6 5 6.5 | 45 M5 x 0.8 5@3L: 04.2 12
16 M3 x 0.5 6 5 6.5 | 45 M5 x 0.8 5@850: ®4.2 12 i 16 M3 x 0.5 6 5 6.5 | 45 M5 x 0.8 5@8350: ®4.2 12
20 M4 x 0.7 8 6 6.5 | 45 M5 x 0.8 5@5,: ®4.2 14 ! 20 M4 x 0.7 8 6 6.5 | 45 M5 x 0.8 5850: 4.2 14
25 M5x 0.8 10 8 8.2 | b.b M6 x 1.0 5@85L: 5.2 15 i 25 M5x 0.8 10 8 82 | bb M6 x 1.0 5850: 5.2 15
32 M6 x 1.0 12 10 | 82 | 55 M6 x 1.0 585 5.2 16 i 32 M6 x 1.0 12 10 | 82 | 65 M6 x 1.0 5850: 5.2 16
40 M8x1.25 | 12 14 1105| 6.5 M8 x 1.25 5@51: ®6.7 20 | 40 M8 x 1.25 12 14 1105 6.5 M8 x 1.25 5@51: ®6.7 20
50 M10x15 | 15 17 1105| 6.5 M8 x 1.25 5@5L: ®6.7 25 i 50 M10x 1.5 15 17 110.5| 6.5 M8 x 1.25 5@5L: ®6.7 25
63 M10x15 | 15 17 1105| 6.5 M8 x 1.25 5@51: ®6.7 25 i 63 M10x 1.5 15 17 1105 6.5 M8 x 1.25 5@35L: ®6.7 25
80 M14x15 | 20 22 17 11 | M12x1.755835L:©10.4 | 25 i 80 M14x1.5 20 22 17 11 M12 x 1.75 5@3L: ®10.4 25
100 M18x1.5 | 20 27 19 13 M14x2.05850:®12.4 | 30 i 100 M18x 1.5 20 27 19 13 M14x 2.0 585, ®12.4 30
. PA PB 1 - PA PB
HEER KB = e o St=5 | St>5 | St=5 | St>5 i HEEIR KB - Lo 7 St=5 | St>5 | St=5 | St>5
12 16.3 10.2 1 M5x 0.8 5 5 7.5 7.5 | 12 16.3 10.2 1 M5x 0.8 5 5 7.5 7.5
16 19.8 11 1.5 |Mbx0.8 5 55 8 8 i 16 19.8 11 1.5 M5 x 0.8 5 55 8 8
20 24 13 1.5 | Mb5x0.8 5 55 8 9 i 20 24 13 1.5 M5 % 0.8 5 5.5 8 9
25 28 17 2 M5 % 0.8 55 55 9 9 i 25 28 17 2 M5 % 0.8 5.5 55 9 9
32 34 22 25 PT1/8 6.5 9 9 9 i 32 34 22 25 PT1/8 6.5 9 9 9
40 40 28 3 PT1/8 7.5 7.5 9.5 9.5 ! 40 40 28 3 PT1/8 7.5 7.5 9.5 9.5
50 48 38 4 PT1/4 8 10.5 8 10.5 i 50 48 38 4 PT1/4 8 10.5 8 10.5
63 60 40 4 PT1/4 9.5 11 9.5 12 i 63 60 40 4 PT1/4 9.5 11 9.5 12
80 74 45 5 PT3/8 115 145 11.5 14.5 ! 80 74 45 5 PT3/8 1.5 14.5 11.5 14.5
100 90 55 5 PT3/8 16 20.5 16 20.5 i 100 90 55 5 PT3/8 16 20.5 16 20.5

A 151



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

